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Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.
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The Code No. on the top of the question paper
should be written by the candidate on the front
page of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.
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Don’t leave blank page/pages in your answer-book.

FI-GRTH % SaRFT . T A T& A o
STETEAIFE & [Td ST forer FaY 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

TRETEl STYT AT Fo 9T YT oaey fid)

Candidates must write their Roll Number on the
question paper.

PYFT F97] # FAT @7 @ Y@ 98 GrRad &Y d [ 59T
g7 g @& & O % I 39 T 7 #HE A aar
B T8 53T a3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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(i) & FeT AT 8
(i) 37 F97-97 § 19 g97 & o [ @ @gusl o
T, q e THEe W E
GUE 93 G H g9 gEr 1§ gide
(i-xvi) TEGTE FHX & J97 81 9%
797 1 3% & 81
G q: 3 G5 4 g97 & 2 & T 7% FA
g: 97 81 JAF FIT 2 ST F &1
G G 39 G § g97 &y 8 § 15 T FA
B F97 &1 FAF FIT 4 SIH F &I
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G ‘T : 50 € § J97 G 16 T 19 % o7
gIT 797 81 J9% §97 5 3jH @ 81
(i) 3G 797-99 § 57 &y & &3 fAFy & 8 fav
4 5 @ ar a g T oRE I HeIT [T
T 8 o7 geA § @ oy Ru o g 7 @
HIT T & 797 FT 8

General Instructions :

(i) All questions are compulsory.

(ii) This question paper consists of 19 questions
which are divided into four Sections :'A', ‘B,

'C'and 'D':

Section A’ :

Section B’ :

Section 'C':

Section D' :

(iii) There is no

Question No. 1 of this Section
has sixteen (i-xvi) Objective
Type Questions. Each question
carries 1 mark.

This Section contains six
questions from Question Nos. 2
to 7, each of 2 marks.

This Section contains eight
questions from Question Nos. 8
to 15, each of 4 marks.

This Section contains four
questions from Question Nos.
16 to 19, each of 5 marks.

overall choice. However, an

internal choice has been provided in two
questions of S marks. You have to attempt
only one of the given choice in such questions.
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(i)

(i)

(4) 603

g - H
SECTION - A
frrfiaa demett § oAy d@e dM-di & 7 4
(a) 16 B) 36
(C) +48 D) 64

Which of the following numbers is an
irrational number ?

(A) 16 B) /36
(C) 48 (D) 64
(36)1/2 1AM B : 1
(A) 6 (B) 12
(C) 18 (D) 9
The value of (36)1/ 2 will be :
(A) 6 (B) 12
(C) 18 (D) 9
Frrfeiea disiig it § SF-91 0 9806 & 7 1
(A) x> +5x+6 (B) y+i
2y
1
(C) 5vt+3 D) ——

Which of the following algebraic expressions
is a polynomial ?

(A) x?+5x+6 B) y+—

(C) 5vt+3 (D)
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(iv)

(vii)

(5) 603

TEUE p(x)=2x+5 & LIH B : 1
5 5
A 3 B -3
2 2
© = B -2
The zero of polynomial p(x)=2x+5 will be :
5 5
A3 B -3
2 2
- (B} =3
THHT 4 = 5x—-3y @ ax+ by+c=0 & &4
4§ [T g c & A Sy 1
(A) 5 B) -3
€ o (D) -4

Write equation 4 = 5x — 3y in the form of
ax + by + ¢ = 0 and indicate the value of c:

(A) 5 B -3
€ O (D) -4
I o ¥ AfeeT oY Feter Y@l @ a1 ad 3
TS AN H M [T 1

What is the name of each part of the plane
formed by horizontal and the vertical lines
in the Cartesian plane ?

gite & gEl ATERT 1 T 7 1

What is second postulate of Euclid ?

P.T.O.
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(viii) T g & P fargelt & St ool e i

(ix)

ST g & ? 1
(A) TH A (B)
(C) om% (D) g &

How many lines can pass through two
distinct given points ?

(A) A unique (B) Two

(C) Infinite No line

& &N H AT 180°€r a‘rﬁﬁﬁwmﬁ%
(A) =TT BT

(B) T T

(C) HIxF B

(D) St ahioT

The sum of two angles is 180°. Then these
are called as :

(A) Acute angle

(B) Complementary angles

(C) Supplementary angles

(D) Reflex angles

“@ B watem Bid g, aR @ Bigs & Al
TN AN I ST B g B # A
gomett ol I & i BT & ISR Bl T
Fretfeied & @ waimEHar & SiF-a1 g g P
(A) AAS (B) ASA

(C) SAS (D) SSS

"Two triangles are congruent if two sides
and the included angle of one triangle are
equal to the two sides and the included
angle of the other triangle." Which rule of
congruence it is ?

(A) AAS (B) ASA

(C) SAS (D) SSS
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(xi)

(xii)

(7) 603
forell Bt @ AR AR SR AT 8 cm T 3 cm

g, S &A% BN 1
(A) 24 cm (B) 12 cm
(C) 12 cm? (D) 24 cm?

The altitude and base of a triangle are 8 cm
and 3 cm respectively. Then its area will be :

(A) 24 cm (B) 12 cm

(C) 12 cm? (D) 24 cm?

AT §, I9 & BEihd AT B Hed o 1
N7/ 4

INBCRER e (B) d guEs
(©) g Preumes (D) @Y FaEs

In fig, the shaded part of the circle is known
as:

(A) Major sector (B) Major segment

(C) Minor sector (D) Minor segment

P.T.O.
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(xiii) T & 1 FFIT 12 cm &, O S9! STFa- 8T - 1

(A) 1728 cm3 (B) 1728 cm?
(C) 36 cms3 (D) 36 cm?

The edge of a cube is 12 cm, then its
volume will be :

(A) 1728 cm3 (B) 1728 cm?
(C) 36 cms3 (D) 36 cm?

(xiv) 14 cm I 91 M 6 TSI &G BIT - 1

(A) 28 cm (B) 28 cm?
(C) 42 cm? (D) 616 cm?

The surface area of a sphere with diameter
14 cm will be :

(A) 28 cm (B) 28 cm?
(C) 42 cm? (D) 616 cm?2
% [ B Th S IBEH I I T B Hl
TfehaT Xl ® 1

@ ® ¥
© 2% D) Y

When a coin tossed once, then the
probability of getting a tail is :

NI A B ¥
© 2 o) Y
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(xvi) TF fhdbe B9 H, uH ARA SwE @ T 30
T # 6 gX O IR 81 39D &R AR AR
%l Wehar BRT 1

a) 4% B) 2%,
© D) 3

In a cricket match, a batswoman hits a
boundary 6 times out of 30 balls she plays.
The probability that she hit a boundary will
be :

a) ¥ B 2
© % D) 3

guE - §
SECTION - B

2. {x—%yr & JERg 'q H fafaw 2

3
Write [x —% y} in expanded form.

3. fHfafad w&f & § yd% il g R ¢ 2
() HHioX 3@
(i) YETEs

Give a definition for each of the following terms :
(i) Parallel lines

(i) Line segment
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4. IR TH IR PN ® 0 SR @, 1 qiEe 6 '
TH A Bl 2

If the diagonals of a parallelogram are equal,
then show that it is a rectangle.

5. 15° 99 & T H A HioW| 2

Construct the angle 15°.

6. $9E 14 cm A0 TF @F JAF A9 H T TOHE
BT 88 cm? Bl ST b STER HN AT 3N DI 2

The curved surface area of a right circular
cylinder of height 14 cm is 88 cm?2. Find the
diameter of the base of the cylinder.

7. 40 TWHE WM T IS n H T A9 RO M@ E 2

3.1415926535897932384626433832795028841971
G f&7g o S1& S ald 0 § 9 T o bl & Th

JRIRA s FA1=U|

The value of © upto 40 decimal places is given

below :
3.1415926535897932384626433832795028841971

Make a frequency distribution of the digits from

0 to 9 after the decimal point.
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e - 9
SECTION - C

% & P IRHAIGHI Hiford| 4
7+3\/_

Rationalise the denominator of

1
7+3\/§'

9. THH x +2y = 6 H AN AT-TT & A HioW| 4
Find four different solutions of the equation

x+2y=06.

10. Fr=fafed dem o & & a9 & g & w9 o
ARG HifTT 4

x| 2]-3] 3 0]

y|-3]7]-1|-15

Plot the following ordered pairs (x, y) of numbers

as points in the Cartesian Plane :

x| -2]-3] 3 0

y|-3]7]-1]-15
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11. 3T H, AB||CD @R CD|EF 2| @™ & EA L AB
B A LBEF =55° 8, @ x, y X z & A9 &

Hif

/y
B)C

4

A C E
- z

559
D

1F

In fig., AB||CD and CD||EF. And EA 1 AB. If
/BEF = 55° then find the values of x, y and z.

/y
Bx

A C E
] z

559
D

1F

12. A ¥, ABCD U% &HidX agysl 8, AE L DC &R
CF L AD B 3 AB = 16 cm, AE = 8 cm 3R
CF =10 cm & @ AD Fd &I 4

A B
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In fig., ABCD is a parallelogram, AE 1 DC
and CF 1L AD. If AB = 16 cm, AE = 8 cm and
CF = 10 cm. Find AD.

A B

F,

=
D E C

13. TF BgT ABC #l &1 g, e BC = 8 &,
/B =45° 3R AB-AC = 3.5 a9l & 4

Construct a triangle ABC in which BC = 8 cm,
/4B =45°and AB-AC= 3.5 cm.

14. ©F BS & gemell 1 oG 3:5: 7 8 3R SEH
qi 300 T 21 36 BISl # &F%d S i 4

Sides of a triangle are in the ratio of 3: 5 : 7 and
its perimeter is 300 cm. Find its area.

15.§rﬁaﬁwﬁqmaﬁ$ﬁﬁﬁwmwa¢a€a
: 4

24, 10, 8, 14, 5, 48, 10, 8, 7, 18, 28, 15, 27, 10, 2, 7

M B S T T SRl T HTed, HeAw 9 Sgeh S
it
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16.

17.

18.
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The points scored by a Hockey team in a series
of matches are as follows :

10, 8, 14, 5, 48, 10, 8, 7, 18, 28, 15, 27, 10, 2, 7

Find the mean, median and mode of points
scored by team.

gue - §
SECTION-D
fEord 9gue 6x% +5x -6 & [PHEUS HA HW 5
Factorize the quadratic polynomial 6x°>+5x—6.
AYAT
OR
NENIERS] T : 27x3 +y3 + 2> -9xyz
Factorize : 27x> + y3 +2° - 9xyz

aqisy 6 Rl wHeTg BT @ g% &1 60° Bl Bl 5

Show that the angles of an equilateral triangle
are 60° each.

forel Me™ 1 A9 40 m x 25 m x 15 m &l 39 MM
¥ 1.5mx1.25mx0.5m &I HY I Thel & fhad
TR e @ o T & 7 5
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A godown measures 40 m X 25 m X 15 m. Find
the maximum number of wooden crates each
measuring 1.5 m X 1.25 m x 0.5 m that can be
stored in the godown.

3TeE

OR

T @9 gUd S F AT 9856 cmd Bl AT TWH
YR & A 28 cm B, Al 5Id BT -

() i @ S

(ii) <% P frdds HaE

(iii) <f BT TH TR &l

The volume of a right circular cone is 9856 cms3.
If the diameter of the base is 28 cm. Find :

(i) Height of the cone

(i) Slant height of the cone

(iii) Curved surface area of the cone

I el A TF 9 500 IR IVEY WX, &1 I8 U
BT B 5

q &g ;105 a)
% faq : 275 9]
Fis Al fBd & : 120 R
S § Y% TeAl & ged &l Wehdr s it
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Two coins are tossed simultaneously 500 times
and we get :

Two heads : 105 times
One heads : 275 times
No heads : 120 times

Find the probability of occurrence of each of
these events.
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